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ρ
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(u, w, h, p, τ ij) = (u0, w0, h, p0, τ
ij
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ij
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∂th0 − w0 + u0∂xh0 = 0 . )�2*

D
���
� ���
� ��	
���� ��
�����
� �� ��
 �	������
 ��


w0 = 0 �
� τxz
0 = 0 . )��*

�
 
�& �
�
����
 )��* &��� �
�3
�� �� z �
� 	�
 ��
 ��	
���� ��
�����
� )��* ��
8
�

τxz
0 = 0 . )�,*

���� ��
 ��
����	���
 
7	����
� )��* �
� ��
 ��	
���� ��
�����
� )��* &
 ��
 �
�
�� ��
 3�	� <�& ��
�����
 ∂zu0 = 0�

>�
 

.� ���
� 
7	����
� #�� )G*9 )�* ��
 ��

 ���

 ��(
1 + λ1

d0

dt

)
τxx
0 = 2

(
1 + λ2

d0

dt

)
∂xu0 , )�G*

(
1 + λ1

d0

dt

)
τ zz
0 = 2

(
1 + λ2

d0

dt

)
∂zw0 , )��*

&�
�
 d0/dt = ∂t +u0∂x +w0∂z � %���9 #��� )��*9 &
 8
� &��� ��
 ���	���
 )�,* �
�
��
 ��	
���� ��
�����
 )�1* #�� ��
 3�
��	�
 �� ��
 ��7	�� �	�#��
 z = h0

p0 = τ zz
0 − ∂xxh0 − V (h0) . )��*

1



>�
 

.� ���
� )O(ε2)* u!���

�	� 
7	����
 ��

A
∗
d0u0

dt
= −∂xp0 + ∂xτ

xx
0 + ∂zτ

xz
1 .

H��
� )��* �
� �

���
� u0 = f(x, t) &
 �����


A
∗ (∂tf + f∂xf) = ∂xτ0 + ∂x(∂xxh0 + V ) + ∂zτ
xz
1 . )��*

"
�
�����
� ���� ���� 
7	����
 #��� 0 �� h0 &
 8
�9 	��
� ��
 ���3 ��	
���� ��
�����
�
�� ��
 

.� ���
�9 τxz

1 = f/βs9

h0A

∗ (∂tf + f∂xf) = ∂x
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